10.

SECTION-A
UNIT-I

IfA={1,2,3,5,7}and B= {2, 4,5, 9} then A — B will be :
(A) {4, 9} : B){1,3,7}
(©) {2, 5} (D) none of these
IfA={1,2,3,4},B=1{3,4,5,6} and C= {4, 5,6, 7} then (A U B) N-Cisequalto:
(A) {4,5,6} < BY{3;4,5,6,7} '
(©€) {5,6,7} . @) ¢
In above question (A N B) U C will be :
(A) {5,6,7} (B) {2,4,5, 6}
(C) {3,4,5,6,7} » D)(1,2,3,4,5,6,7)
IfA=1{1,3,5,7,9,11} and B= {3, 5,7, 8} then complement of A in B will be :
@ {1,911 | - ®3.57
(€) {3,5,7, 8} - (D) {8}
If A be a finite set consisting of n elements then the power set P(A) contains :
(A) 2" elements : : (B) 2™ elements
(C) 2! elements (D) none of these
Let A={1,2,3} and B = {3, 4, 5} then the symmetric difference of A and Bis:
(A) {1,2} (B) {4, 5}
€){1.2. 4.5} ___. — : (D) {3}
IfA={0,1} and B={0,-1} then A x B will be :
(A) {(0,0), (0, 1), (-1, 0), (=1, D (B) {(0,0), (0,-1), (1, 0), (1,=1)}
O {1, 1),1,-1)} (D) none of these '

If A has 32 elements, B has 42 elements and A U B has 62 elements then the number of

elements in A (N B will be :

(A) 12 (B) 20
(C) 10 (D) 30
Let S be the set of all straight lines in a plane. The relation R in S defined by "x is parallel y" is :
(A) Reflexive ' ~ (B) Symmetric :
(C) Transitive (D) All above
' UNIT-II

If(x)=cosx+ 3 sinx then (™) will be equal to :

@R ®)2
©) 242 | D)3
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12, If sinx =g then cot x will be equal to :

< a _4
(A) - . B ;
S ) '
/é’/f— ) zevze or e
‘ 29 |
L3 =i then s S equal 1o :
and | | 7
A/ - B) 3
{Cil (D) none of these
14. e e will be equal to :
(A)2 B) -2
©1 _ E L D)
-4 im gr®+br+c .
15. 2, isequalto:

F>Tdr rex+ f

@ (B) o
*. ' 2
o3 | B D)0
ﬁilm' o ;_,.x I
9% isequalto:
EVE S EY
iCi1 ' (D) none of these
fx+l , x<3 7 ,
A e continuous at x = 3 then the value of the A is - _
[3.\: -5 x>3 X i
®)3.
D)2
3 - PTO.
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13.

14.

15.

16.

17.

(A) 2(x-1)
(C) 2x>-1

If sinx =% then cot x will be equal to 2

(A) 7

© %

0 e
If f(x)= J; then 70+ fle) 1S equal to:

@) 2

©)1

ll:m x2—1
x—>1x+2
(A)2
©1

will be equal to :

lim ax? +bx+c

S e aia o
X—>°°dx2+ex+f q

) 7
©

4ot ¥ ™ is equal to :

Ae
©) 1

R S
[ffx=4 4

3x-5 , x>3
(A)4
©1
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Iff:R—>Rstflx)=2x—1and g: R — R s.t. g(x) = x? then (fog) (x)1s:

(B) 2(x-1)
(D) none of these

®) 5

(D) none of these

7
®) 5
(D) none of these

(B) =2
D0

(B) o

(LY

®) %
(D) none of these

TS0 is continuous at x = 3 then the value qf the A is :

B)3
(D)2

BTO.
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19.

20.

21.

22.

23.

24.

£ f)= %% +1 = h Vf ek
I iy x>2ten x)is:
(A) Continuous at X = 2 (B) not continuous at x = 2
(C) not defined at x =2 : (D) none of these
e UNIT-HI
The roots of the quadratic equation 2x2 — 13x + 15 =0 are : )
(A) 5.2 ' ]
SO _ ®) 32
=3 3
© 35 ) 55

If o, B are roots of the equation x> — 2x + 3=0 then %+%\‘.\,Jvill be equal to :
Qe - =2
O ®) 5
- L] 1
(©)=5- ® 3

If (~1.43) ‘be the cartesion coordinates of a point, then its polar coordinates are :

w62 b3

©) [2, %) | | (D) none of these

If (4, 1), (1, 2) and (4, -3) are verticés of a triangle then the area of this triangle will be :
~(A) 12 units (B) 15 units

(C) 16 units : (D) 17 units

The locus of the point whose distancé from the origin is 4 will be :

(A)x2-y*=16 B)x+y=4

C)x>+y*=16 : (D) none of these

The equation of the line passing through the points (1,2) and (-1, 4) is given by :

(A)x+y-3=0 (B)x-y—3=0

(C)x-y+3=0 - D)x—-2y+5=0
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27.

28.

29,

PR e
L T - PR

J

ol
e
(-3 2 —4
© |4 1 4
- i)
= 2=e3 : '
If A= ]andB=2 1| then AB is:
23 24

11 10]
ta) [15 13}

11 13
©ls 1]

" ' oA & [
Inverse of the matrix [2 3J IS :

e ety
ORI P

L3 =
(C)E—zt‘z]

_0] then A i Bis:

@531

(D) none of these

® s o]

(D) none of these

ey
(B) iﬁ[-z -4]'

© 55 3

UNIT-IV

i‘l—tanx -
dx| secx 15‘

- (A) —(sin x +-cos x)

(C) sin x — cos x
i PEACS
dx(a ) is:
(A)2a*

a2x
© -
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- (B) cosx —sinx

(D) sinx + cos x

(B) a2x

(D) 22

PTO.
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31.

32.

33.

34.

3s.

36.

d
! (logsin x)

“(A)tanx -

(C) cosec x

If f(x)= i=F then f'(2) will be equal to :

lzx
A) ~%
©3

If y = sec x + tan x then % will be :

(A) sec x (sec x — tan x)
(C) sec x (sec x +tan x)

: PG
If y = e’ then dx—; will be equal to :

(A)9e*
(C) 6 &>

: dy
2 2 — = 1 —_
If x* + y* = 6x — 2y then o

x-3

(A) y+1

: FARS)

©5a |

A function y = f(x) will be maximum if :
d 2y

;2—>0

(A)

B2y
L

“(B) cotx

(D) none of these

®)

(D) none of these

B) tan x (tan x — sec x)
(D) none of these

(B) 3e*
(D) 9 e

d2y
LI

(D) none of these

Function f(x) = x* — 3x + 4 has minimum value at :

C(@A)x=-1

C)x=1
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37. J"'Z”dx:

X

2
(A) x?+logx+c

2
© logx—%ﬁ—c

e -[132 ]

(Asee Toc Jreni F
(©) cosec™! x

39, j edx=
(A)e*+c¢

(©)2e=+¢

40. J.tanx dx =

(A)log sinx + ¢
(C) logsecx +¢

ar. | 3_12x i

(A) —%log(3—2x)+c
(C)—log (3-2x)+¢

42. szd_xm -

1 x—4
(A) Elog =1 +c

1 x+4
© glog o +c

43.

J' l-tanx
1+tanx
(A) log (cos x — sin Xf=Se
+(C) log (sin x + cos X)+c
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UNIT-V

(B)xlogx+c

(D) none of these

(B)tan'x + ¢
(D) none of these

(B) 4e* +¢

4x
(D) eT+c

(B) logcos x + ¢
(D) none of these

(B)2log (3-2x) +¢
(D) none of these

1 x—4
(B) Elog[x+4]+c

(D) none of these

(B) log (sinx — cos x) + ¢
‘(D) none of these

PToO.
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2 3
2
44, Jlx dx = | L
qells S ' A
O . ®)
©) "% £ o= : (D) none of these

: , o -
45.  The value of the integral f_4 (ax3 +bx+ c) dx depends on :

(A) c only . (B)bandc -
(C)a,band ¢ ! (D)aand ¢
SECTION-B

1. (a) LetR be the relation on N x N defined by (a b)R (c,d),iffad=bcV (a,b) € NxN,
~ showthat R is an equivalence relation.
(b) IfA={a,b,c,d},B={a,e, g} andc= {e, g,mnp}thenﬁnd

: MHAUCBNC @MAUBNC Gi)(ANB)YUC
2. (a) Evaluate x'linéo[vxz%l—x]

(b) Test the continuity of the following function at x = 0,

l+e” 0
0= P

07 . x=0_

3. (a) Find the roots of the following quadratic equeition

2x+31+x2+7  2x+47
9 x2=7 9

iS==080 "3
by If4 '{ Zeie *1} then show that A3 — 6A2 + 25A —42 1= 0.
-3 =)

, g E = . n, I e
4. (a) Find the differential coefficient of [1 +;) with respect to x.
(b)  Find the maxima and minima of the following function 2x* — 21x2 + 36x — 20.
. (a valuate | -5~ .

T xsinx

(b) Evaluate |

0 1+cos®x
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